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QUESTION 1

In the stream below, the CHAID node and Neural Net node can be combined in a single Super node.

~{ _—__’_’—-P'

f EEER B
XCELY - =
B e (53 e (<P e (2 sl
falco ¥ modeling dat Filler Data Known Type \ ‘;
churn
A. True
B. False

Correct Answer: B

QUESTION 2

The optimal binning method in the Binning node uses a Supervisor field to determine the binning cut points.
A. True

B. False

Correct Answer: A

QUESTION 3

How many phases are in the CRISP-DM Process Methodology?
A. Four

B. Five

C. Six

D. Seven

Correct Answer: C

QUESTION 4

Which node should be used if the user wanted to see the number of cases in each category for a variable of Categorical

C2090-012 PDF Dumps | C2090-012 Study Guide | C2090-012 Braindumps 2/4


https://www.pass4itsure.com/c2090-012.html
https://www.pass4itsure.com/c2090-012.html
https://www.pass4itsure.com/c2090-012.html

VCE & PDF https://www.pass4itsure.com/c2090-012.html
2024 Latest passditsure C2090-012 PDF and VCE dumps Download
PassditSure.com

Measurement level?

Distribution

Weab
cc Al
Plot
C D A
Histogram

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 5

Examine the Data Audit output shown below.
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& Data Audit of [14 Felds] —— o |2, oS
5 Gin oo GEEEE N G
A Qualty | Amnatatons.

Complete fields (%): [8571% | Complete records (%)

Field Measurement Outilers Exremes  Action | Impute ML. MWethod % Complets "uf'aiir]

[A] ACCOM @b Mominal - -= Mever Fixed 100
[A] COUNTRY @ Nominal - e Mever Fixed 100
[A] CUSTID @b Mominal - - Mever Fixed 100
[a] DIST_TO_BE . ¢ Continuous 1 0 Mone Mever Fixed 100
A] DOB @ Mominal - - Mever Fixed 100
.+ GEMDER @ Mominal s atn Mever Fhied 98 681
HOLCODE @b Mominal - —— Hever Fied 100
{7 HOLCOST __|#” Conlinuous a 1 Digcan Mever Fizad 47869
[A] NAME @b Mominal - - Mever Flrad 100
[A] NIGHTS £° Confinusus 1 0 hullify hever Fixed 100
[A] NUMP2ARTY Continuous G 0 None Hevar Fiiad 100
[A] PCOL Flag - - Hever Fixed 100
A] REGION Maminal - - Mever Fixed 00
TRAVDATE @b Mominal - - Mever Fixed 100

e 1

What action will occur in a generated Outlier and Extreme Super node for HOLCOST?
A. Nine records will be set to the system missing (null) value for HOLCOST.

B. Ten records will be deleted.

C. Ten records will be set to the system missing (null) value for HOLCOST.

D. Nine records will be deleted

Correct Answer: B
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